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O UGl &I gaiferd (e $d T Bl
(i) 21b-32+ 76200
(ii) —22 +132* —5x+72' 152
(i) p-(p-q)-9-(9-p)
(iv) 3a-2b-ab-(a-b+ab)+3ab+b-a
(v)  Sx'y=5x" 43w =3y +x -y +8n° -3y
(vi) (3" +5y-4)-(8y—»y'—4)

Eam1:
(i) 216-32+Th—20b=21b+7h—20b—32
= 28h—20b-32 = 8b-32
(ii) —2* +132" =52+ 72" =152 =72" +(—2* +132" ) —(5z +15z)

= 7z +122° - 20z
() p-(p-a)-q-(¢-p)=p-pta-a-a+p
= p-p+prq-q-q=p-q
(iv) 3a—2b—ab—(a—b+ab)+3ab+b—a=3a-2b—ab—a+b—ab+3ab+b—a
= 3a—-a-a-2b+b+b—ab—-ab+3ab
= (3a-a-a)—(2b—b—b)—(ab+ab—3ab)
= a—0—(-ab) = a+ab
(v) Suty—50+3w =3y +x -y 4807 -3y =Sy 43w 80T S+ -3y -y -3y
= {5_1-3_1,-+3_x!j-}+3{v: —(51;1 i }—{3_}'2 +¥° +3_'F:]
= 8xly+ By =4’ —T7y"
(vi) (307 +5y-4)-(8y—y' ~4)=3)" +5y-4-8By+y +4
= {3;;2 + 3 )+(5y-8y)—(4-4)
= 4y" —3y—0= 4y" -3y

(i) Imn,=5mn, 8mn— 4mn

(ii) ¢-8z.3z—2z,z—1t

(iii) —Tmn+35,12mn+2,9mn—8,-2mn-3

(iv] a+b-3b-a+3a-b+3

(v) ldx+10y—=12xv =13, 18 =Tx =10y +8xy, dxy
(vi) Sm—Tn3n—4m+2, 2m—3nn—35

(vii) 4x'y, =307, 50,52y

(viii) 3p'g’ —4pg+5.-10p°q 15+9pg+Tp'q’
(ix) ab-—4a,4b—ab,d4a-4b

(x) D, (0 N I S
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(i)

(i)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

(x)
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Jmn,—Smre, Bnen, —dmin = 3mn + (—5m}+3mn+{—4nm:|
= (3-5+8-4)mn = 2mn

t—8z,3z—z,z-t=1-Biz4+3iz—z+z—1
= f—r—8z+3z—z+:z
= (I=1)t+(-8+3)z+(—1+1)z
= -5z+0= S

~Tmn+5,12mn +2,.9mn—8,~2mn —3=~Tom + 5+ 12mn+ 2 + 9mn —8 -+ (~2mn) -3

= <Tm+ 1 2mn+ 9w —2mn+5+2—-8-3
= (-7+12+9-2)mn+7-11 = 12mn—4

a+b=3b-a+3a=-b+3=a+b=-3+b-a+3+a-b+3
= [a—ﬂ+a}+(b+b—b}—3+3+3
= a+b+3

14x+10y=12xy=13,18=Tx=10v+ 8oy, dxy=1du+ 10y = 12xy =13+ 18 = Tx = 10¥y + By + 4y
= 14x=Tx+10y =10y —12xy +8xy + 4y =13 +18
= Tx+0y+0xy+5 =Tx+5

Sm=Tn3n—4m+2,2m-3Imn=5=5m-Tn+3In—-4m+242m-3Imn -5
= Sm—4m+2m—Tn+3n—3mn+2-5
= (5-4+2)m+(=7+3)n-3mn-3 = Im—dn+3mn-3

4y, 307,507 50 y =4 y + (=30 ) + (=507 )+ 5x° y
= 4 y+ 57y =3y =50 = 9’ y-8xn’

3pg —dpg+5,-10p°q 1549+ 70
= 3p’y’ —4pqr+5+[—li]p q:]+15+9m+'?p2q1
= 3p'g’ —10p'g" +7p°q" +4pg+9pg+5+15
= (3-10+7)p'q" +(—4+9) pg+20
= 0p'q’ +5pg+20 = Spg+20

ab—da,d4b— ab,4a — ab = ab—4a + db— ab+ da — ab
= —da+4a+4b—4b+ab—ab
= 0+0+0=0

=y -1y -1-2 1-2 -y

=X -y -l+y¥-1-£+1--¥
- - -y +y -y -1-1+1
(1=1-1)2 +{-1+1-1)y* —1-1+1
= —x =y -1
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A 3:
PEERR
() P HE -5 (i) —12xy 9 6y
(iii) (a+b) H& (a-b) (iv) b(5-a) & a(b-35)
(v)  4m’—3mm+8 HH -’ +5mn (vi) Sx—10 HH —* +10x-5
(vii) 3ab-2a’-2b° Hq 5a° ~Tab+5b° (vii) 5p° +3¢° — pg B 4pg-5¢° -3p°
€. I 3:
M y-(57) =y+5
B ﬁ}r!
(i) =12xy=(6ay) = —12xy—6xy
= —IB\X}'
(iii) (a+b)—(a—b)= a+b—a+b
= a—a+b+b
= 2b
(iv) b(5-a)-a(b-5)
= 5b—ab-ab+5a
= 5b—2ab+5a
= Sa+5b-2ab

(v] 4m’ —3mn+3—{—m1+5m]
= dm’ —3mn+8+ " —5nmn
= 4m’ +m’ =3mn—Smn+8
= S5m” —8mn+8

(vi)  Sx—-10—(—x +10x-5)
= 5x—104x" —10x +5

= X +5x—-10x—104+5
= x* =5x—3

(vii)  3ab-2a"-2b" —(5a° —Tab+5b"
= 3ab-2a’ - 26" -5a’ +Tab-5b°
= 3ab+Tab-2a" -54° - 2b° = 5b°
= 10ab—Ta* —7h°
= —Ta’ - 75 +10ab

(viii)  5p*+3¢° — pg—(4pg 54’ ~3p’)
= 5p*+3q" — pg—-4pq+5q° +3p°
= 5p" +3p" +3¢° +5¢° — pg—4pg
= 8p" +8¢" —5pg
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AT 4:
(a) 2x? + 3xy W & & R, »° + xy+ * & 1 S TifRer

(b) —3a+7h+16 WId &4 & AT, 20 +8b+ 10 H ¥ &1 YT A1igU?
.3 4:

(a) |, SST T &A® = p
UHF HTER, o +ay+ 37 + p=20 + 3y
= P:EXE +3.1:‘|-"—(.1'2 +X¥+ I'!r':] = Fzzg‘: +3_x}~__r2 -Xy- }l:

= p=-r-y+iy-x = p=x -y +2xy

I, TAD ° — 7 + 2y T AR
(b) AT, 9T T4 &Wd =g

UH & HTER, 2a+8b+10-g=-3a+7Th+16

= —g=-3a+7b+16~(2a+8b+10) =  -g=-3a+7Tb+16-2a—8b-10
= —g=-3a-2a+7b-8b+16-10 =  —g=-Sa-b+6
= g=—(-5a-b+6) =  q=5a+b-6

T, TAF g =5a+b—6 T TMETI
H¥AS:

—x? = y* + 6y + 20U HE & I, 347 — 4% + 5y + 20 T F01 Fara a1 Fifgee
# IS5
T, RTen T e = g

U & HTHR, 3 4y +5xy + 20— g=—x — ¥ + 61y +20
= g=3' =4y +5.t}‘+2{]n{r-.l::"y’+6,n'+20} = g=3" -4y +5x3+20+x + ¥ —6ay—20
= =3 +x -4y’ + ¥ +5y—6y+20-20 = g=4x"-3y' —xy+0
ek, TF 427 -3y — vy FrBTE 1 TR
H¥A 6:

(@) 3x-y+11 3R -y- 11 FAMHH 3x -y - 11 HI GeET

(b) 4 + 3x 35 - 4x + 2x2 & T H F 3x2 - 5x 3N —x2 + 2x + 5 F TN PI TeT8U
£ 3IT 6:

(a) WY & IR,
(Bx=y+11)+(=y=11)=(3x—y-11) = Ir—y+11-y-11-3x+ y+11
= 3x—3x—y—y+y+11-11411 = (3-3)x—(1+1-1)y+11+11-11
=0x—y+11 = =y+11

(b) WH & IR,
[{4+ 3_T}+{5—4_!:+ Exl}}—[[jf —5.1-] +[—.rI + 2x+5j]
= [4+3x+5—4x+2x’]—|:3f <Bx-at 2% 5]
= [h: +3x—4x +5+4:|—|:3,r’ - +2x=5x+ 5]
[24* —x+9]-[ 24" —3x+5]

I —x4+9-2¢ +3xr—-5 =2 -2 —x+Ix+9-5 = 2x+4
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